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Set Id : 62450 43 BATCH2 D.EI.Ed. Odia_12NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

"l am not in the least anxious about her education," Captain Crewe said, with his gay laugh, as he
held Sara's hand and patted it. "The difficulty will be to keep her from learning too fast and too
much. She is always sitting with her little nose burrowing into books. She doesn't read them, Miss
Minchin; she gobbles them up as if she were a little wolf instead of a little girl. She is always
starving for new books to gobble, and she wants grown-up books—great, big, fat ones—French
and German as well as English—nhistory and biography and poets, and all sorts of things. Drag her
away from her books when she reads too much. Make her ride her pony in the Row or go out and
buy a new doll. She ought to play more with dolls."

1) What is most likely Miss Minchin's relation to Sara?

A) Aunt.

B) Teacher.

C) Mother.

D) Grandmother.

2) How did Sara read books?

A) She read slowly and carefully.
B) She read quickly.

C) She gobblesd them up.

D) She read attentively.

3) Why was Captain Crewe carefree about Sara's education?

A) She loved to read.

B) She was well qualified.

C) He didn't want her to study.

D) Miss Minchin would teach her.
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4) What did Captain Crewe ask Miss Minchin to do?

A) To give Sara more books.

B) To teach Sara to work.

C) To drag Sara away from books.
D) To give Sara kitchen work.

5) What sort of books Sara wanted to read?

A) Grown up books.
B) Children books.
C) Primers.

D) Policy books.

6) Fill in the blank with the correct option:

One is not to talk

in a meeting.

A) aloud, aloud

B) allowed, allowed
C) aloud, allowed
D) allowed, aloud

7) The idiom " Make or break" means

A) be the factor which decides whether something will succeed or fail

B) be the impossible factor which decides whether something wins a revolution
C) make something on your own and then break it yourself
D) the maker is also a breaker of things

8) Fill in the blank with correct prefix or suffix:

Most students were happy when they heard that the exam was poned by a week.

A) post
B) pre
C) fore
D) pro
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9) Which of the following words is correctly spelt?

A) acommodate
B) accommodate
C) accomodate
D) accommodete

10) The idiom "An itching palm" means

A) signal before a storm

B) an avaricious or greedy nature
C) a very bad situation

D) the feeling of being forshaken
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Select the INCORRECT pair of activity and work done from the given statements.

A) A pigeon scratching the dirt on the ground ; positive work is done by the pigeon on the dirt
B) A crane lifting a pillar ; positive work is done on the pillar

C) A monkey climbing up a tree ; negative work is done in climbing up

D) A bullet fired upwards; negative work is done by gravity

11) go Seadiq ol QRIS FITISRIT Ie° AT YR G&]I@Gi /AR Fag

A) ge esaie gfisa 300 qugﬁ; Q6CI6 QI TRRI RU6Q ARAIQE Ty FAULING
B) 4@ 69% 9Qq Q0IAE; 9 QU6 arage Kl AQUAIRE

C) AIe6T o aceg 9QF; acag 0Gaisa saage QN QARG

D) aceq 1@ ¢F ORIGN; areds Qial 9eaige Sk RQUAIRE

12) Which of the following amendment/s is/are landmarks with respect to decentralising the
administration of Panchayats and Municipalities?

A) 42nd and 44th amendments
B) 44th amendment only
C) 73rd and 74th amendments
D) 73rd amendment only

12) 3qadio aaIQ 690 TEARIS TFOIHG IS RFRAIRR JEaa gIIdeg F622190d @69l ANNER ARE ?

A) Y9 96 Ie° WY QF Tedie
B) 6N TY O TedlRIF

C) 9 ©¢1 Ie* 9¥ L Tedle
D) 9 ¢ FedlIe

13) The National Board of Accreditation came into existence as an independent autonomous body
to assure quality and relevance to -
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A) Technical Education

B) Senior Secondary Education
C) Teacher Education

D) Fine Arts Education

13) ol Q@0 280 9690l 8 gREaeIq 9540 @89l IR RIS1R AQYE 61 99 A0 Y NN 2R LRI -

A) Q91 dal
B) e84 aldie dal
C) 2U0e &l

D) Sgew! aal

14) The body that looked into problems faced in the implementation of the 3-language formula was

A) The Kothari Commission

B) The National Knowledge Commission
C) The National Policy of Education 1986
D) The Education Commission 1966

14) n-aisl gea QdiIRIdosa ageasl anaia aflie aie w@ AAG el egami

A) §&i0161 Zisaia
B) Qu&1a sie zisais

C) Quaia d91 1@, ecrs
D) Sal zisaid, e ¢99

15) The program of operation (NPE 1986) proposed Operation Blackboard to improve

A) human and physical resources in schools

B) operational and administrative functioning in schools
C) admissions and enrolment functioning in schools

D) attendance and tracking process in schools

15) @ 691917 2 2AA6QER (NPE ecr) veia agdais 2UCAFR Qeseisa 92i9 60l
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A) FMRAYLREA IR IS 6RIGR AR
B) SIPAYERER QIAIVCIG! I JEIATR RIAIRIG!
C) FuRageasa 2Iedian Ie QIAsasia AIdiRIfe
D) SQUR0gEREa QAR N gla® gRal
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which letter will be midway between 10th letter from the left and 12th letter from the left, when
alphabets are arranged in the alphabetical order?

A) K
B) L
C)M
D)N

16) ea6esacn 2dGQq adaiel @rsa AR, 694 28aG AIAQ Q6N BFQ UG FFQ YITE VA FRIINIEER 089 ?

A) K
B) L
C)M
D)N

17) In a certain code language T is coded as 1000 and Z is coded as 2197. How would N be coded
in that language?

A) 625
B) 343
C) 225
D) 525

17) 1@ GGa eaig aimica T g eooo e Z § 9009 QI6a 671e, @aldied | 692 aimica N § §0d cqie @Ql 9 2

A) 998
B) ¥
C)9ogs
D) 898

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

A juice shop sold 600 glasses of juice.Some of the glasses were large glasses and the remainder of
which were small glasses. If all the large glasses of juice were priced at a fixed rate and all small

glasses of juice were priced at some other fixed rate, then what was the revenue that the juice shop
earned from the sale of juice?

|. The number of large glasses sold was 3/5th of the total number of small glasses sold.

Il. The price of a small cup of juice was $2.

A) 1
B) 2
C)3
D) 4

18) QOGS 9gadasa 656 709 :
0. 96 Q4 | anQie QAR 629Ig 9628 26T |

9. 98 QR4 11 vgdzl anya AR caig 62t 26T |
M. 96 F9QE | v || eeng 910 FaIFe cose AR ARQ oo Ale ATHg 266 |

26 QA4 | wer Il aeng @I H21de 6069 @ ArAIa AR c29I e aTYg 965 |

99 99 6QIRINER Foo §iq 79 F@ cRIR | AF 9@ 19 I AFR 6216 9 ARl | 9§ AR 9@ g 99 99 FTY QQ 9 A 68IE
Qe 29 2R @8 AIdI R4 oYl ARER, 606a FE6 @@, 606 Y 6N Y FFQ EWES A c2RAR ?

|. 6@ 62IRdcl 9% g|aa Tl O 2RI AL 6816 GIAR 6 eronra dal |

I. wa 6216 @0 @ ga8 $9 8qu |

A) ¢
B) ¢
c)ym
D) ¥
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19) Saraswati started walking east. After walking for a while, she turned left and continued walking.

She again turned left and continued walking. Finally, she turned right and continued walking. In which
direction was she walking finally?

A) East

B) West
C) North
D) South

19) 2661 ge ag SIS 2I0a q6m | §8 A0 SRS 96 62 QIF Aieq 9f 2IYY SRR AIdea | 6 g8 QIrg 9 2IFg QEm
| 661969, 62 RI2167 R q@ 2o SINeIg MITER | 68T6R 62 6QE G96Q QIRELR ?

A) 98
B) a4
C) aaa
D) @84

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the capacity of tank A?
I. The inlet pipe X takes 6 hours to fill the empty tank A.

Il. The inlet pipe X can fill 100 litres of water in 1 hour.

A) 1
B) 2
C)3
D) 4

20) FIRYC gggdasa 536 qag :
¢. 95 QR | 2nia ARR caaig Asaa TIET |
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a@ Q9! |l ugdal anaia ARA caqlqg asaa 26T |
0. 9@ YS! | e |l aeag 9eI10 F2Ie 069 AR AAR el IR ATUY 266 |

¥. 9@ QA4 | v || eeg 9910 F2IHe 6069 @ AR QAR s29! die aTHG 65 |

oIE A Q [901 6960 ?

[ @R o1& A @ @9l aR aesas aeg X 9 A€l 6eaaN |

Il. areae aimg X ¢ Wdlsa eoo foa alé aaiciea |

A) ¢
B) ?
c)m
D) ®
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Sarva Shiksha Abhiyan (SSA) was launched as India’s flagship program to address which of the
following?

A) Privatization of higher education
B) Adult education

C) Universalizing elementary education
D) Upgrading secondary education

21) dgdge TQ 6966 ATIIP AR AL 48l 2EAIR (YIAYAY) fIeea g ATIREA QIS 2Iad FAUAINAR ?

A) 298310 26N

B) @2 &l

C) 92ie JRIg Iea1a8 ads
D) Afie da1g 290 @89

22) Which of the following may be the most important reason to say that Teaching is an Art?
A) Itincorporates skills and procedures
B) It involves systematic methods

C) ltinvolves skill to dissimilate language, maintain interest of learner
D) Itincorporates probing and experiments

22) 321919 99 99 6917 929Ia FORAYS frIQ 696F AL0IQ 9eegd AIRE 6QIRAER ?

A) <21 G187 I&° GEINIGER UEUS R6Q

B) wasa @4ege aad uags

C) @il 38q @6, daIiTa 2Ige eRIA QS AIE AR QB! ASLS
D) ¥2l 2gQ8Ie N9 0aI86q USYS F6Q

23) Which of the following does NOT come under local bodies, which are responsible for offering
educational services to the local community?

A) Municipal Corporations
B) Army schools
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C) Zilla Parishads
D) Panchayat Samithis

23) FeqI8 ARIQ 689G YI91G Y ZRIINER 2EA I, QIR YA 601FIG FATS 6911 IR Ala QI 6DIQ2IN ?

A) NYFIaIRG [eaieaqR
B) 6271 SQUIRGQER

C) aal afaQ

D) ereloe ade

24) What is the mission of the program National Adult Education Programme (NAEP)?

A) Educational assessment and evaluation

B) Educational facilities for adult learners

C) Educational assessment at national level

D) Education facilities for elementary education

24) s1619 992 981 fIdias (vaad) fIiaae ARG K76 ?

A) 8168 aqigl & JRUITe
B) @92 dalicies aa daee gl
C) 91616 266Q SRIee ATl

D) Qoae da ae daiee gau

25) Which of the following is a quality of a good communicator?

A) One who gives a lengthy speech.

B) One who reacts to the audience very frequently
C) One who has histrionic talents
D) One who is a good listener

25) Sgdige crIQ 6966 Q64 AR SAITISAITNINS Gsl ?

A) G R ARl QUG G28

B) @4 QT AUCR QOLlQ ORI gRIY 998
C) Q121a 4Igee 9o 28

D) a9 964 9@ 6410
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26) Which of the following is a wrong example of metamemory?

A) Shamshad knows the twenty three times table by heart, he can recite it without stopping.
B) Little Lara knows that if she has to learn many words quickly, she must group them in themes.
C) Sudha knows that counting similar numbers first helps her do mental addition faster.

D) Robert knows that if you give the change along with the note then it is easier to calculate the
money to be returned.

26) F6qI auQ 6098 6208 60IGISFLCING I @R ANLAS ?

A) suceie cond adie adidal asradad, 62 vaig @ U@ eBaIGise

B) @6 aiel 9168 ca af eI 41g F6Re 98 JYSIQ 29, 6669 QI9° & 2gAEe QI8 KA PRl
C) I 9163 60 AAIF TS S8 GIF YEA AR ISR 619G 91 FAIER A FER
D) 60196 P13 64 AT VS o1 ATC YoQ TUT 6069 6TAS 62U 29| O TRl R LR 629

27) Which of the following statement is true for learning and memory?

A) Learning modifies behaviour and memory overrites behavior
B) Learning acquires skills and memory acquires learning

C) Learning is the acquisition of skills or knowledge while memory is the expression of what is
acquired as a result of learning

D) Learning remembers past experience and memory modifies behaviour

27) G991 9% C6Radel dia SAEe rIQ 6aLE Ay ?

A) §96 2Iea8q adelh aca 1o 98 2eadq 260 969
B) dgQI 6RIER 2AN FEQ I QF FYIl AR FEQ

C) 9066298 67199 9 RIR A2 6A60696R 6 6208 JACR TRNTR AIFEA AI2 9IF 24 01210 AR
D) 4RI 20100 2RREIQ A69 ARIREN 9 g5 aeaaq adelh adanra

28) Which of the following learning disabilities explains a common developmental arithmetic disorder
amongst children?

A) Dyslexia
B) Disgraphia
C) Dyptheria
D) Discalculia
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28) dgfge auq fdeiea sARgRIRR 2RAe SAIFIRT AR Y9 ARG FFIFIRS CISER QY I R ?

A) elasagal
B) @agigel
C) Gaoszaal
D) aaiaqsel

29) Which among the following options CANNOT be covered under the non-formal mode of
education?

A) Hobby courses

B) e-learning courses for academics
C) Small duration vocational courses
D) Special training for entrepreneurs

29) Q10 265100GR ARG 2196a F6CIS FRIQ 606 308 JAANYS 6LRAAGS AIT?

A) 6dlgq Qloygel

B) dR1GQ0Iee A1l Q-R@° Aloige
C) 99 @y 9898 aloige

D) @euiglfiee A 86818 QIRs!

30) A teacher looks eye to eye and makes a stern gesture to a student who misbehaved during
classroom teaching. Which of the following classroom management techniques she has used?

A) Scolding
B) Verbal intervention

C) Non verbal intervention
D) Reinforcement

30) @66 20 2 AL Y (IR 6XHE I 6941960 FTRIR ANNER UAVIFRE FRAF| RIFF FE0IR TS GUF |1 6Q 6L FIQ
604 6941ge OfaRal 985 Yeeia /Gad ?

A) 6IF @aQ
B) sdige 22680
C) 26 6Aig@ 29689

D) AABIRQE
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 499 699 98 19 2R 2el GRS K6Q?

A) ziel 98
B) aaaql 9@
C) Qugql 63
D) 2 68

32) a0ad ARIAES 6RG0IER MY 247

A) A1 @1 8% 9aQ
B) 9% asa

C) 9I%4 6886a
D) @Ia4 2Iaasa

33) F6HM TR QVER FIVIY EII?

A) Qidy
B) qia1
C) ae
D) @er

34) ‘aqdraea UV 98 QI8 |

A) 282
B) @esl
C) aead
D) @0

35) 90 J0Q Ja6a ‘A8 QUGS 6 28l IGgRI 96Q?
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A) 2@
B) 63aiay
C) Qea9

D) 26196

36) 56918 FRIQ 6RRG IR 9 IQ7?

A) QI
B) a&
C) qelg
D) e@ie1@

37) ‘géa1e’ 20Qd 98 9950 694 AIg FYE ?

A) 9
B) 96
Cc)d¥
D) &l

38) ‘adaig fiace Fael’ Qe 8d F0d @ |

A) Q901032 QIel
B) fa@6q 9@
£) Oa 0@6I @ g9l
D) ad8ae!

39) ‘som 2GR QFQ 2l FQUE @R |

A) 69a saIgel

B) &4 €4 <@gl 629
C) qseuiaieq @Fal
D) @di ¢ 629
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40) Q6¢)I8 AUQ 696G F-2C@ FAQ IR QAALRE ?

A) 64 Ag A SRS

B) 2@ 992 anl

C) §9@ 2199 99 99IR6R
D) Gaig qaIq e

41) ‘afae’ aea YANGId6ie 98 912 |
A) 298RS

B) PRGOS

C) eexraq

D) 26a1e@ie

42) ‘QUQENY'- @ IRIQ 9IR7?

A) Q@ €9

B) 6dld@ 4@
C) eflae e
D) saicige 62

43) ‘QI0’” adica ‘aa’ geya ReILINASl SR8 QI8 |

A) 8918
B) aie@ia
C) a%ia

D) eiee1a
44) 691U PR MR YA TGN — QG VAT @ UQ?

A) Qeagy
B) 366196
C) agqial

WtsApp/Call- 8596976190
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D) Q°qyIQIoe 6818y

45) ‘@1’ 49 ATIF6NUR 98 UL |

A) 92
B) sli&
C) dif
D) 88!



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What is the root of the equation x + b = 0?

A) b
B) -b
C)0
D) 1

46) x + b = 0 amecsa 9 6966 ?

A)b
B) -b
C)0
D) 1

47) What is the area of the triangle whose vertices are (6,0) (0,8) and (0,0) ?

A) 12 sq. units
B) 24 sq. units
C) 16 sq. units
D) 28 sq. units

47) 99 §9ea 68eTe 666 629 aI9iq 91d caad (6,0) (0,8) we (0,0) ¢

A) 12 a4l g&e
B) 24 «d gfe
C) 16 ad g&e
D) 28 «d g&¢e

48) The LCM of 2 numbers is 1848 and the square root of their HCF is 2. What is the product of the
two numbers?

A) 5032
B) 7548
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C) 7392
D) 12580

48) 25 cravie adig 6208 1848 1o canieaa daIg @ 96 F 6208 2 | 9 TR AR 6760 629 ?

A) 5032
B) 7548
C) 7392
D) 12580

49) An article whose cost price is ¥ 120 is sold at ¥ 180. What is the percentage of profit earned?

A) 30
B) 40
C) 50
D) 60

49) e 2609, aee @oga T 120 o2l T 180 6 5& 241 6069 1Z6R 6066 9609| AIR 6271 ?

A) 30
B) 40
C) 50
D) 60

50) If 5 is subtracted from 5 times a number, the result is 2 more than 4 times the number. What is
the number?

A) 5
B) 6
C)7
D) 8

50) 98 98 TR & gaQ & T6ale QAN 6069 TRITR THIQ ¥ GaQ 9 ATR 241 6669 PHIF 6966 ?

A) 5
B) 6
B)7
D)8
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51) How many equilateral triangles can be drawn by using the vertices of a regular hexagon?

A) 0
B) 2
C)6
D) 10

51) ve Gafic gegea 419 Q19210 @8 6960IF ATRIe 90 aARITIRAIGS ?

A) 0
B) 2
C)6
D) 10

52) Alex and Stephen are running around a circular track. They run at speed of 10 km/hr and 20
km/hr respectively.Both of them start from the same point and run in the same direction. If the length
of the track is 5 kms, how long will they take to meet for the first time?

A) 30 minutes
B) 40 minutes
C) 50 minutes
D) 60 minutes

52) 21609 e G609 1@ 9OIRIa 9I96a 6TIgad | sanise aaigsr 10 fsaifieq | JG el wer 20 fsmifica | G &6l saiea

6398 | 6AFNER a0 AR YR AIe Ga6a 6F1ER| Zion FAD | 96 gIea 6344 5 6 94, 6062 66 YN 2R 6aH TIE 6966
QIR 6Q6Q ?

A) 30 aés
B) 40 dae
C) 50 &5
D) 60 dae

53) ¥ 2,000 is invested under simple interest and compound interest for 2 years seperately. If the
rate of interest is 10% in both, then the difference in the compound interest and simple interest
earned is [Note: Compounding is done annually]

A) 10
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B) 20
C) 30
D) 40

53) ¥ 2,000 aee g 9 088 Qi 2M1R6a 2 @ A IR fI96a §576aIe faIaIRg | 98 aeasa g 2a 10% saranrd, 6059

9298 Qo Y& AR QU6 Al 6298 [ 9o : QTR wise SR FAUAIRANR

A) 10
B) 20
C) 30
D) 40

54) A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 5:9:4 amounting to ¥ 412. What
is the number of 50 paise, 25 paise and 10 paise coins respectively?

A) 400, 720, 320
B) 320, 600, 440
C) 240, 480, 300
D) 120, 600, 480

54) sa15q uaea 50 aaal, 25 aaal e 10 aqal gal 5: 9: 4 agawsa agaia T 412 a8 | seee 50 aaal, 25 aeql 9=
10 gQal Q91 P FLFEA 6966 629 7

A) 400, 720, 320
B) 320, 600, 440
C) 240, 480, 300
D) 120, 600, 480

55) If P = The set of whole numbers less than 5, Q = The set of even numbers greater than 3 but
less than 9, R = The set of factors of 6. Then whatis (P N Q) u (Q N R)?

A) {4}

B) {4, 6}

C) {4, 6, 8}
D){1, 2, 3, 4, 6, 8}
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55) 0@ P = 5 @ @a gd raugéea 6a¢, Q = gq Tsgées 6a¢ aiel 3 @ 240 ¢ 9 9 a9, R =9 Q aqe@géea 626 1 6669
(PNQ)U(QNR) sase 620 ?

A) {4}

B) {4, 6}

C){4,6, 8}
D){1,2, 3, 4,6, 8}

56) What is the last digit of the expression of 252 + 242 + 232 + 2272 + 212 ?

A) 0
B) 1
C)3
D)5

56) 2572 + 2472 + 2372 + 2272 + 2172 ¢ 269480 649 2F 6966 629 ?

A) 0
B) 1
C)3
D)5

57) What is the sum of all the external angles of a regular octagon whose sides are 6 cm each?

A) 360°
B) 270°
C) 180°
D) 120°

57) Safie zaip@a aag QY 6al5a A8 6066 629 QIR g6 alg cead 9 6ad ¢

A) 360°
B) 270°
C) 180°
D) 120°
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58) The ratio of the past weight to the present weight of a lady is 9:7. If she was weighing 81 kgs
before, what is her present weight?

A) 63 kgs

B) 64 kgs

C) 65 kgs

D) 79 kgs

58) @68 ARRITQ 2AG16Q Bee A2 QEFIRA 8eRa 2AgaIe 9:7 | 98 cIea 8ee g9q 81 FsqIgiF 2N, 669 SRR QEAIRR BR
6Q60 ?

A) 63 &g

B) 64 &g

C) 65 aai

D) 79 &g

59) If A= {8"n — 7n — 1 | neN} and B= {49n — 49 | neN}, then AUB =

A) B
B) A
C)A-B
D) {0}

59) 9 A= {8%n — 7n — 1 | neN} we B= {49n — 49 | neN}, sese AUB =

A) B
B) A
C)A-B
D) {0}

60) How many numbers below 50 have exactly 3 factors?

A) 1
B) 2
C)3
D) 4
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60) 50 Q c6m 626015 Traiiica ACRNFER 3 & AP ARG ?

A) 1
B) 2
C)3
D) 4
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) What causes Tsunami?

A) Avalanche
B) Tornado
C) Earthquake
D) Volcano

61) 9215 KIeS @& 621N ?

A) 2818918
B) edlieel
C) ¢

D) 2sgeada

62) The part of the Earth where human beings live is known as

A) Inner Core
B) Mantle

C) Crust

D) Outer Core

62) gaeta 6Q% zre sacolsa A8 91d @98, T QIFIERQ FEIGEI

A) G0Q 6299 28R
B) aigiog

C) ga]

D) QY 6994 2156

63) How many schedules are there in the Constitution of India?

A) 10
B) 8
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C) 12
D) 11

63) eIeea AAIRER 628015 2901 Q@8 ?
A) o

B)r

C) 9

D) ¢¢®

64) In the Vedic age, the classification of society based on occupation is termed as

A) Tanda
B) Varna
C) Barhot
D) Chaurasi

64) 6509 JOI6Q, Q& QUEQ 2IAG ACFA 65618 GRICIN

A) o8

B) o4

C) qiasele
D) eclaqt

65) The First International Earth Summit was held in June 1992 at

A) Kyoto

B) Washington DC
C) Paris

D) Rio de Janeiro

65) ga 1992 sa gas 2IeeIeNd e afie N0I6a 2Qa6 62RR

A) @663
B) @iroe 6@
C) auaQ
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D) Q3% 606223

66) Which among the following options is the thinnest layer in the structure of the Earth?

A) Inner Core
B) Mantle

C) Crust

D) Quter Core

66) Sqadie Feegee AUIQ 6896 QIR F09Q JERI 4R ?

A) QeQ 6999 250
B) aigiae

C) ga

D) Q&Y 6999 25

67) Which of the following is correctly matched as far as their demands for Federal Autonomy
concerned?

A) Nagaland/Mizoram-Socio-religious identity
B) Telangana-Linguistic identity

C) Punjab-Regional Imbalance

D) Jharkhand-Regional imbalance

67) cacadya eraia Yeraides AR 6ATIATa QIGa AAR QGE, 7648 AIQ 6RAE A0R IR 697 HIAG ?

A) RISinleg / AeRIRF-AATR- M@ TR
B) 666a@IRI-QISIGE 9800

C) 98I9-Arede 2AAFRe

D) $1684-Uroda Uagee

68) Originally the 8th Schedule of India had how many languages?

A) 12
B) 16
C) 14
D) 22



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

Download Tech Of World App

68) qrQ §10ea Mf AgYe16a 6R60IT QIS gl ?

A) €9
B) &2
C) ¢¥
D) 99

69) The imaginary lines of longitude run around the Earth from

A) East to West
B) South to West
C) North to South
D) North to East

69) Qidifia eaxl adl NB0IQ Ga91Q QALIse AReIM

A) 999 af¢
B) @f¢i@ add
C) areg o84
D) e@aq g¢

70) Quit India Movement' is also known as?

A) Swadeshi Movement
B) Home Rule Movement
C) August Movement

D) Khilafat Movement

70) ‘Qee 210 A6RIRR" 92| AIQER F1 RIS

A) 96Q¢l1 2I6R IR
B) Q2 {99 2eRIee

C) 204 zicaipe

D) anide disLine
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71) Which kingdom of ancient India among the following options was famous for 'Pearls'?

A) Chera Kingdom

B) Rashtrakuta Kingdom
C) Pandya Kingdom

D) Chola Kingdom

71) GYRHS TRTGRR F1U6Q IP1R VIAGR 696 QIR ‘61T AIR gAR aMI?

A) 6501 QURY
B) qiaqs quay
C) aigy auey
D) 60iRl QU

72) The term Conurbation which refers to the merging of towns and cities for developmental purpose
was coined by

A) Jean Gottmann

B) Robert Park

C) Berges and Davis

D) Patrick Geddes

72) 226090 99 Q918 920 9 2098 Aa90Re Qcedyea g4g ION AT QI AIfe AR

A) 918 6QIeeHIR
B) saled Qi@

C) 969 ¥e* 669
D) aige 6668

73) Which of the following states have Bicameral Legislature?

A) Bihar, Karnataka, Uttar Pradesh, Tamil Nadu

B) Karnataka, Maharshtra, Uttar Pradesh, Tamil Nadu
C) Bihar, Tamil Nadu, Maharashtra, Assam

D) Bihar, Maharashtra, Uttar Pradesh, Andhra Pradesh
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73) S9fge agde cug caasen Galie SR 2E ?

A) deia, adisr, RAAYERY, sifianig
B) adies, aeiaie, QAQYER4, oifiaeig

E) a2lq, QIFRRIg, aig, alaie

D) Goi, coicie, QRQAYEDE, 218gees

74) If it is 5.30 PM in India, then it is 12 Noon in London. Which of the following options is the
CORRECT reason for this statement?

A) India is located West of Greenwich at 82°30' E
B) India is located East of Greenwich at 82°30' E

C) India is located South of Greenwich at 82°30' E
D) India is located North of Greenwich at 82°30' E

74) 93 92| NIe9R UL 8.Mo 62IQ2IN, 6AEEIER NLREA FUIY € 9 ¢ 62IRN2N | FYAYS FFFYLR I 690G 1@ 890 ain Ade
FE 62QUES ?

A) Q166 giegoa adiaea r9gmo’ a 6a 29ge
B) @Ie¢ g1eGea geea r99mo’ @ 6a 29ge
AN FIeGea @8G6a [ 990’ 6 6@ 2GS
) 9 4

D) qise gietoa a@esa r 9amo’ @ 68 2986

75) Unhappy India' was written by 7

A) Dadabhai Naraoji

B) Lala Lajpat Rai

C) Bal Gangadhar Tilak

D) Surendra Nath Banerjee

75) ‘aeld eréar’ & Qe fge |

A) QIYIRNR @l

B) AR ARU QUL

C) QIR GeHIQ Oae
D) 9668 @la QIRIE1
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following reaction produces N20 upon decomposition?

A) NHsNO:2
B) (NH4)2CO3
C) NH4CI

D) NHsNO3

76) GoRde 95@al FIQ 696 90 6291 U6 9,8 F9e F8Q ?

A) NH4NO:2
B) (NH4)2COs3
C) NH4CI

D) NH4NO3

77) What will be the value of compressibility factor Z for ideal gases?

A) Less than 1
B) Greater than 1
C) Equalto 1

D) Equalto 0

77) 210321R UIQ Ais A6SIOR §I0 © @ FlIR 7€ 629 ?

A) € Qad
B) ¢ 9@
C) ¢ Q@e aqiR
D) o 9@¢ aqaie

78) Mass of a body into acceleration is

A) power
B) displacement
C) force
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D) momentum

78) Q4 @R IS QQd AR

A) 43
B) Gaiae
C) aq
D) aread

79) He is also known as “Father of Genetics”

A) Morghan
B) Mendel
C) Watson
D) Bateson

79) “eReacaa dol” QIR A 62 RIS |

A) 6elsl
B) eqle@m
C) GIoQR,

D) cagar

80) The epiphyllous type of condition is found in the flowers of

A) citrus

B) china rose
C) brinjal

D) lily

80) 12 gRlea gasa YGTIand geiaa 2eql Afa

A) Q98
B) 109! 6aIRI0
C) QIaas
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D) @&

81) Which of the following products will be formed when H3zPOs is subjected to heating reaction?

A) Oxidizes to form H3zPOa4
B) Reduces to form PH3

C) Disproportionates to form both Hs3POs and PH3
D) Dehydrates to form P20s

81) H3PO3 aegeeql go@aiea geieass fgade fkIQ 696 agie 60 629 ?

A) H3PO4 q0¢ aigl 2801ee @68
B) PHz qo% a89iq 21a a6a
C) aaa H3POas we* PH3 qoe ae aigage

D) P20s5 gioe Qigl eia6es 629

82) Which among the following is the actual value of the van der Waal's constant 'b'?

A) Two times the volume of one mole gas molecules

B) Equal to the volume of one mole gas molecules

C) Four times the volume of one mole gas molecules

D) One-forth times the volume of one mole gas molecules

82) QqAde quQ 699F eUIe 62 Ba @ da ‘b’ @ gge 7R 2se ?

A) 691G\ 6AIR G4 AYIFRA ABFNSIR QRS
B) 6615 6417 GMIA AYYF@Q ObiFlle A8e AAIR
C) 8915 671IR GNIA 6208 AYIFIR AQANER G13 e

D) sai6 seim aHia 2ggéea ofician IQ-0QEIE g8

83) A cyclist with mass 40 kg exerts a force of 400 N to move his cycle. The acceleration is 6 ms™2.
The force of friction between the road and tyres will be

A) 240 N
B) 640 N
C) 320N
D) 160 N
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83) 40 @9l Bae A58 F64 AREIN FIRE GIFA ARERRA FRRG! AR 400 N G J6Le 903 | QA 6298 6
ms=2 | QIGI 8 SRR FIEA ATERQ R 6RE6S 629 ?

A) 240N
B) 640 N
C)320N
D) 160 N

84) The polysomes are a

A) multiple units of ribosomes
B) attachment of many ribosomes to a common mRNA

C) group of two or more ribosomes translating an mMRNA sequence simultaneously
D) lysoosmal aggrgations

84) aferiqQe@ e

A) QARERICAINR RS YFS
B) @ QIS RRAR A0 USHR ARECIISFINR TG
C) Q@ @9 ZR ARERIEFIFR 61T IRRIPR FRAGR [EAF IR FEQ

D) Mg \1@6%19]?1:

85) F1 particles are the small rounded bodies found in the

A) Peroxisome
B) Nucleus

C) Chloroplast
D) Mitochondria

85) ae @ém%l@@ 6268 6210 60IRIRIR ARG

A) S9991R62IA
B) fya0a

C) sqleaiga
D) ciassiadall
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86) The pattern of arrangement of leaves on the stem or branch is referred as

A) venation
B) phyllotaxy
C) phyllode
D) stipules

86) saq @al A8l Qa6Q 086 MIYR FYRIF 92 LI

A) 686727
B) deaiciq
C) gsaie
D) 999

87) Calculate the slope of the curve obtained when a graph is drawn for 2 moles of an ideal gas
between P vs 1/V at 27 °C.

A) 492 L-atm
B) 4.92 L-atm
C) 0.492 L-atm
D) 49.2 L-atm

87) 27 °C ca ¢ @aia 1/V axi6a 4@ ziedaia cuida 2 671Q dial 9@ gIT 2&e 626a gIY 621029l 99 699 947! 893 |

A) 492 L-atm
B) 4.92 L-atm
C) 0.492 L-atm
D) 49.2 L-atm

88) Calculate the work done, if a force of 9 N is acting upon an object and the displacement recorded
is at 8 m towards the direction of the force.

A) 50J

B) 56J

C)72J

D) 85J
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88) UG IR 94 AUEQ AITY FRARI &R 9 N §9 98° GRQ G66a FAIIR 8 M 4, 696@ ALY Q UGS 1T 9
|

A) 50J
B) 56J
C)72J
D) 85J

89) Which of the following bacterium causes sexually transmitted disease gonorrhea?

A) Neisseria meningitidis

B) Neisseria gonorrhoeae

C) Cytochrome gonorrhoeae
D) Streptococcal gonorrhoeae

89) dqfae 6ad cAccqon FIAEIQ 6K wradfie said calcaidal 6RIREIN ?

A) 918262 6AFRRT
B) @laQaal esleRIal
C) ARESIERIA 6616R1G
D) 636Q6RI9IR 68l6RIR

90) Which of the following is a type of non-mediated passive transport process across the plasma
membrane?

A) Antiport

B) Symport

C) Diffusion through a channel
D) Facilitated diffusion

90) dgfide g 6908 Qadl a1 A6a e JRIa F1IE 621RRael F§a 089es JRAIS I8 9RIR ?
A) 2reeals

B) Gesard

C) 1o cusen aucse STISR

D) 6rdma60Q @quen
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